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QUESTION 1

The SL64 board can be used in an OSN 2500. 

A. TRUE 

B. FALSE 

Correct Answer: B 

 

QUESTION 2

A PAUSE frame uses a reserved multicast address and is not forwarded by a bridge or switch, In this way, the PAUSE
frame does not generate any additional information. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 3

Which of the following are the steps for multiplexing low-speed services into high-speed SDH services? (Multiple
Choice) 

A. Mapping 

B. Overhead insertion 

C. Alignment 

D. Multiplexing 

Correct Answer: ACD 

 

QUESTION 4

WDM multiplexes the optical signals at multiple rates (wavelengths) over one fiber for transmission. The digital signals
carried by these optical signals must have the same rate and data format. 

A. TRUE 

B. FALSE 

Correct Answer: B 
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QUESTION 5

The fiber core refractive index n1 must be ( ) the cladding layer refractive index n2, which is a necessary condition for
transmitting optical signals in optical fibers. 

A. higher than 

B. lower than 

C. equal to 

Correct Answer: A 
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